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Instructions 1o Candidates . Min. Passing Marks : 26

T 7Y questions carry equal marks, Schematic diagrams must be
jssur}*- Any data you fee| Missing suitably be assumed gng stated clearly, Units of quantities used/calculated
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B Athinrigid . 1 0 inelination with an equilibrivm
i A thin nfgldplute of size 1.25 m L.25m and weight 149N slides down a slope of 30" mclination It|r|]-|:_-l lh-:]rmlif )
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(») Derive the relﬂtmn:dnpfnr capillary size in small size tube, What will happen if tube is hav g s i

3.0miof certain < : _ Se o Crbie pravity

; fb] _y,._ m- ot Certam o1} Wt‘lgllt f]’j kN Cﬂlculme ?'Tplffl.:ﬁf “L‘i‘:.l!li. nss density. _.\luq;lfu' vo i .IHIti S I_' L ! {H}

: : . * 1. ) : = My ST P cbipoisge
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M~ L30m is sub mereed in water with upper edge I 00m below fic
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®  Avertical square area 1.5
Locate the horizon
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On the surface of the Square such that the foree on the upper portion et (8)
. OR
s (@ Define “Meta cenyric height™
Awoaden block in the £

.
' | - ‘hosc 0 em lone, 20
miot a rectancular RINEUY oats with 1is shortestanisvertical The block s :

¢m wide and 13

~ - .. | . cmeta centre and
°M deep with 4 depth of immersion 12 em. ¢ alculate the position ol the o

-

| 3 1 N
comments on the stabiliny ot the blogh "

) Findthe sduge readine G in the feure civen below

T

P R

(8)



J, (3} Dﬂhecominuir_'-. VLR B v R EE Ly kb
ﬂ]] ‘%:'D ﬂLJiLi ﬂ'i.'ﬂ‘"" i:_”J‘_.,_,J:_:-,. i : L VISR E TR 0 S il e 5% « |\ I[lrlh; ”I : I' -'l,ul'
. : , : k L. Costream lune
F]ﬂd"nf[ﬂfir} L'H'Id-.'l'..'h.'l:"l-_'l'_'.!l SN L IR RTRE IS £ 141} Hetin,
WP (8)
h (@) Define stream lines. What are the wpeantant Lo oo th od arean L
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Bernoulli's equation along a stream hine to bt i b nte st the, cqnation, i
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venturi meter is 25 mm. If the pressure in the pipe s 14715 kPa and the vaccum bressure at the throat is 280 :
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of mercuny. calculate the rate of flow in the pipe. Assume C = 098, Draw lizure also.
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Distinguish between
() Laminar and Turbulent flos |
(ii) Flow theory parallel pipes * P!
A pipe of diameter 25 ¢m connects
Increase the discharge, ﬂ"‘?theF
eservoir, If length of pipelin€ 13

pes in Series.

two reservoir. The difference of water Joyes iy two reservoir i (6)
pipeline of same diameter is laid from mid-point of — oIris ISm. To
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